HeN + Naolh > 0 +NaCN
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. Multiple Choice Practice FTW! Questions 3 — 5 refer to the following. [ h"‘? ’ N4 oH
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Inside a calorimeter, 100.0 mL of 1.0 M hydrocyanic acid (HCN), a weak acid, and 100.0 mL of 0.50 M sodium
hydroxide are mixed. The temperature of the mixture rises from 21.5°C to 28.5°C. The specific heat of the mixture is
approximately 4. o ity is identical to that of water.

P y 4.2 J/g °C, and the density is identical to water {oomL*i'/OO*’*L

4. What is the approximate amount of heat released during the réaction?
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5. Ifthe experiment is repeated withEDD.O ml of 20M HCNiandth0.0 mL of 0.50 MlNaOH, what would happen
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the values for AT and AHxn* /\ “MHV\j G(ocf‘;t dﬂqje 5 j_fq’%‘
AT AH rxn
(A) Increase Increase \
((B)) Stay the same Stay the same Moft Mo M%ﬁ) bt Jame Vb[llht 2 Pqme mals
7'6 Decrease Stay the same - |
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6. If the experiment is repeated for a third time withliOD.O mL of 1.0 MJHCN and|100.0 mL of 1.0 MNaOH, what
would happen to the values for AT and AHnn {relative to the original experir{e_nta results):

(\!ﬁ)’) Increase Stay the same _9 AEJLGJ‘ 1(
(B) Stay the same Stay the same { !‘td)
(C) | Decrease Stay the same (more heat reled
(D) Stay the same Increase
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